485

708
689
= TEREI- M3 100
N 505 .55
S #71) :F
o~ I
e
= <|E
~t m 2‘:@
o~
© 270
(B0, £6E%
BIE 2V o
7% =
Vi Vi
) &b
689x295%5 g; ©
A h S
@ 589x320x1 -
&
%lf*%
| \
O LN
. I
L
40 720 40
800
oD:EE W #S

AF—VEONEYM ANAIDEEDRETY,

BRAUERORERIEATEEHA,

<t &K %>

v ) - X XARBYs -4y —2
] S DC-ME3 1A
ke [ 800
MEEE 750+35
S 1865
R ﬁk 708
ol [ 339
B & 1415
ERABH RAE —
(L) | &= 322
HREE () 100
w2 3 BE@AR () - BBIIAK
A 3 BEAR (8)
1 & BERAR) LY
B RBRH 7 4 vARRTH 5 X5 EF 2K
] RYzFLvVa-—574 VI BR
B (V-9 1) 100-1-50/60
RERNE ERAGHEED (W) 316/325
R BREEEEH (W) 130/130
BeF mﬁ o [EREREN (W) 301/310
) < E % ® & (A) 3.4/3.4
175 L % [n £ (%) 89/91
BRo—F - & (m) 3. 1x1 ®
x r BlES2 >+ > M| )BEBENEATISA-T125V
AT & IR #RT 15Wx 1
ERBAKEA (W) vv7e 180
| & ® B ZHR
0 [RB77 724 (W) xBH AA 20x1
2 B ® B | BEAHBERR
B on & [KA77vE-9 (W) XBY Ah 161
Sl — B # (g) HFC R134a (200)
B B R & (W) 700/875
B R H R E—4HR
Fov v RELR (%)
] } <A VRERNS
R ¥ B # (0 71 immIE
BBERESEHA (T) 0~35
i TYyRPEMN 2K (B)
IE YRS — 7%, B (#)
o L ICGS) 5
| - 2/ 2 (K) 1
= - E B[ 71,7 (B 70
35 Tk o [EABLESR (@) 1
" = (B 2
= A E & BEREREST (-6~2070)
40 ‘ 360 50 _FrRs— 0: [ L 2@EnEHE_12A-125V
T 1 (7574 —f)
450
%)
1. BREMBRABEL IS5 C. BAK. ¥ -84, REH 5. #HoRBIE 1 0cm (EH30cm) BLEOKAR -2
DETT, HBHETT,
2. ARRREENBEABELTNE T, 6. Mikty  LEBIKHERKEATEATHERYTHLLT
3. (%) ABERSSAE30C-BET0%ULOBARHARE BRLTVET,
IERKETT, 7. AEBREBOXDFIER LKEET S LHRB0 £
b, AESNAERBEXSOREATY, BRY - TRy -

A=

1/20

z X
DC-ME3 1A

B 2
XERBY - -x

E
S06369




